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| MHz| V| V | mA| mA mA/V’ VIV kQ | W | W lw
| (C-Ter | 2 | 600! —107] 80 11 ! 2 | 335
C C-Tif 500 | 170 46| 7 |(A-Mod) 17| 16,5
MZ 05-20  Mul 16 1 B(~)Y) 600 1) g 13,8
; stat 42 | 111252
: s:at 30 | 600 110 maximum 20
(C-Tgr| 5 500 — 65 110| 18 | 35|31
1 3 C-Tif 450 | — 70 90| 17 |(A-Mod) 32225
TV 0512 Mul 2 6308 [1B-TIf 500 | — 23 63| 14 | 18| 7,5
] stat 500 . 80 3 | 186
‘ ! | 'stat 60 | 500 maximum 12
0, ljcTer| 2| 600 | — 60| 85| 20 f 27
. | [C-Tgr — 2,7 | 36
720520 Mul ! Bk I{Stat 30 | 600 110 5 | 25/5 maximum 20
3 Bj240M  STCE 306311 C-Tgr 375 — 12/ 110 ] 35 3 24
3 B241 M STCE 3 ‘19 10,037 |C-Tif 300 | — 10/ 90| 35 I 2,5 |16
\ stat | 200 | 375 | 1,15] 26 | 2,26 maximum 24
|
o C-Tegr 600 | — 65/ 125 | 30 [(U,.=110 V) 53
| C-Tif 480 | — 75| 85| 23 |(A-Mod:U,.=110 V) |30
3B/252B STCE 4 | 63(1,4 |{BTI 600 | — 38| 70 (Uge = 40 V) 17
B(~)?) 600 | — 38 % |20x2 70
[ ‘ stat 45 | 600 170 | 30 6,5 17 | 2,6 maximum 25
. fstat 800 40 3 62 | ]
3 B40T ) STCE 5 %32 Jlstat | 600 1000 100 | 15 maximum 40
| (C-Ter 800 | —125/ 75| 19 43 46 |
3T25A1 Maz 6 632 C-TIf 900 | —280| 75| 35 147 | 59 |
} stat 1000 2,5 10 |4 maximum 16
o | (C-Ter 900 | —150| 138 | 32 9 |o1 |
3TSOAT Maz 6 631425 |\ 900 | —132) 98| 20 5,7‘{65 |
; 200 {1200 3,5 16 | 4,6 maximum 35
! i :
033 A STCE 7 6 14 |(CTgr 600 | —125/ 90 i3 |
4033 AA STCE 8 . 6 1,4 ||stat 600 9 15 | 1,67 maximum 25
g [mA] (03 - 30} 02 ) fg [mA] == (10 = 90) X 2
¢, ¢, ¢ y
- g | a g/a | A 2
pF 1 pF [ pF 6
MZ 05-20 74 3 8 ; g
TZ 05-20 5 |18 | 8
3 BJ240 M 145 | 015 | 54 . s x
3 BJ252 B 10 | 4 8
3 B/401 | 5 o2 4 MZ05-20 TV05-15
3T 25 A1 2 06 | 13
3T 50 A1 35 | 06 | 33
4 4
Equivalents G
D4 Cos — TZ 0520 | 3 Bj200 B STCE = TZ 05-20 . ; @ ;
DV 34 STCE = 3 BJ401 | [ 3033 A LMT = 4033 A \.V
$30 A STCE = 3 BJ401 | | 4033 AF  STCE = 4033 A .
T20G Cos = TZ 0520 [ 4033 L  STCE = 3 BJ252 B M
V1101 Cos = MZ 0520 38/240M 3B/2528
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